



StudentName: _____

ExamDate: _____ ExamScore: _____

$$5,3 - \frac{2}{3} \times 5 + 20 \times \frac{3}{5} \div 5 =$$

$$5,5 + \frac{3}{5} \times 2 + 20 \times \frac{1}{6} \div 5 =$$

$$\frac{1}{6} - \frac{1}{2} \times 3 + 8 \times 2,6 \div 4 =$$

$$4,1 - \frac{3}{2} \times 4 - \frac{2}{3} =$$

$$2,8 + 3,1 \times 3 - 15 \times 2,2 \div 5 =$$

$$\frac{1}{2} - 2,8 - 5 \times 5,7 =$$

$$\frac{1}{3} + 5,1 - 2 \times 2,2 =$$

$$\frac{3}{4} - \frac{1}{5} \times 4 + 4 \times 3,8 \div 2 =$$

$$4 + \frac{3}{2} + 4 \times 3,1 =$$

$$\frac{3}{5} + 3,7 + 4 \times \frac{1}{2} =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$5,3 - \frac{2}{3} \times 5 + 20 \times \frac{3}{5} \div 5 = \frac{131}{30} = 4\frac{11}{30}$$

$$5,5 + \frac{3}{5} \times 2 + 20 \times \frac{1}{6} \div 5 = \frac{221}{30} = 7\frac{11}{30}$$

$$\frac{1}{6} - \frac{1}{2} \times 3 + 8 \times 2,6 \div 4 = \frac{58}{15} = 3\frac{13}{15}$$

$$4,1 - \frac{3}{2} \times 4 - \frac{2}{3} = \left(-\frac{77}{30}\right) = \left(-2\frac{17}{30}\right)$$

$$2,8 + 3,1 \times 3 - 15 \times 2,2 \div 5 = \frac{11}{2} = 5\frac{1}{2}$$

$$\frac{1}{2} - 2,8 - 5 \times 5,7 = \left(-\frac{154}{5}\right) = \left(-30\frac{4}{5}\right)$$

$$\frac{1}{3} + 5,1 - 2 \times 2,2 = \frac{31}{30} = 1\frac{1}{30}$$

$$\frac{3}{4} - \frac{1}{5} \times 4 + 4 \times 3,8 \div 2 = \frac{151}{20} = 7\frac{11}{20}$$

$$4 + \frac{3}{2} + 4 \times 3,1 = \frac{179}{10} = 17\frac{9}{10}$$

$$\frac{3}{5} + 3,7 + 4 \times \frac{1}{2} = \frac{63}{10} = 6\frac{3}{10}$$